FEZ D0 BFE L

(1) 6z+y (2 —2a—6b (3) 4x’+4z (4) Ta’—8
1) 3z—y+3x+2y=32z+3z—y+2
=3+3)x+(—-14+2)y
=6z +y
2) —4a+3b—9 +2a =—4a+2a+3b—9
=(—4+4+2)a+(3—-9)
= —2a —6b
(3) 6z’—z—22%+5x=6x2—2x%—x+5x
=(6—2)x24+(—145x
=4z°+ 4z
4) 8a*—5a—3a—a’=8a*—a’—5a—3a
=8—1a%+(—5—3)

=T7a%—8a

1) 10ab—13¢  (2) 3y+3 3) —z’+492—-3 (4 —4a’—4a—2
(1) 8ab —6a —Ta +2ab =8ab + 2ab —6a —Ta
=(8+2)ab+(—6—"7)a
=10ab —13a
(2) Sx—4y+3—5zx+Ty =5x—5x—4y+Ty+3
=05—-0)r+(—4+7y+3
=3y +3
(3) 42%+32z—1—52%+62x—2=42>—52%+3z+62z—1—2
=(4—5z*+ 346z +(—1—2)
=—z%4+92x—3
4) 2a*—9—8a+7+4a—6a*=2a*—6a’—8a +4a —9+7
=(2—6)a’+(—8+4)a+(—9+7)
=—4a*—4a -2



